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1-2. Simplify - 

4 4  
Ans: 

32+8& 

13 

1-3. What is the remainder when 3x5 - 7x4 - 20x2 +2  is divided by x-3 ? Ans: -16 

1-4. Find the equation, in slope-y-intercept form, of the line that is perpendicular to the line 
x + 4y = 8 and that passes through the point (-4,3). Ans: y=4x+19 

x+2y=4  
1-5. Given: Find: -13x+26y 

4x-5y=15 
Ans: -48 

2-1. IfAis25%ofB,Bis150%ofCandCis40%ofD.WhatistheratioofAtoD? 
Ans: 3:20 

2-2. Given the set : (5,7,21,10,7,8,12) . If a = median, b = mean, and c = mode, find 

Ans: 1817 

3 2x -y  =81 
2-3. Find the value ofy that satisfies the system of equations: Ans: -3 

G+y=o 

2-4. Joe travels 75 miles per hour for 90 miles. Then he travels 50 miles per hour for 60 miles. 
What was Joe's average speed for the entire trip? Round your answer to the nearest 
whole number. Ans: 63 mph 

2-5. Solve for x : 

2x3(x2 + 1 ) + 7 ~ + 2 1 = 2 ~ ~  - 4 + 5  
-16 

Ans: x=- 
13 

3-1. Find the greatest common factor of 336,48, and 120 Ans: 24 

3-2. Given: 4x2 + 4 = 20 If a is the number of roots the equation has and b is the smallest of 
all of the roots, find d + b2. Ans: 12 

29 52 63 s3 
3-3. Simplify: -*-- + - 

6' 34 2' 9' 

1 L  
Ans: - 

5 



1 3-4. y varies directly with z and inversely with x . If y = 16 when x = -and z = 24, find z 
2 

1 
wheny=4 and x=- .  3 

8 
Ans: - 

2 

4- 1. Simplify: ( ~ b - (  (3a2)l] [(h2 r2 (3 b-3)2]] 

8 1 
Ans: - 

112 

Ans: 9b2a4 

4-2. Find the equation of the line that passes through the point (8,ll) and is parallel to the line 

(y - 8) = 7 5  (x - 4) . Write your answer in y = m + b form. 
3 

Ans: y = - x + 5  
4 

4-3. Given: f (x) = x2 + 2x + 1 and g(x) = x2 . Find: g(g (  f (2))) Ans: 6561 

4-4. A triangle has vertices (3,4) ,(3,11),(5,4) . Find the area of the triangle. Ans: 7 

4-5 Evaluate: (-4)4 + (1 3)' - (1 2)' + (1 1)' 

E-1. Solveforw: 2w2-17w=-35 

Ans: 2320 

7 
Ans: 50r- 

2 

E-2. Write the equation of the line which passes through the points (4,2) and (4, -2). 
Ans: x = 4  

E-3. Find the vertex of the parabola y = x2 Ans: (0,O) 


